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Self Practice Paper (SPP) 

 
 

1.  Radical has IUPAC name-  

 (1) 4-Methyl pentyl (2) 1,3-Dimethyl butyl (3) 1,4-Dimethyl butyl (4) 3-methyl pentyl  

 

2. In the given formula G is an unknown group.    

  
 What will be the group G, which can change the word root (parent carbon chain length) of above 

structure?  
 (1) –CH=CH

2 
 (2) –Cl   (3) –CH

2
–CH

2
–CH

3
 (4) –COOH 

 

3. In compound HCC–CH
2
–CH=CH–CH C

2
–C

3
 bond is the type of :-  

 (1) sp – sp2  (2) sp3  – sp3  (3) sp – sp3  (4) sp2 – sp3  

 

4. The IUPAC name of  is 

 (1) Cyano methanal (2) 2-Oxo ethane nitrile (3) Cyano ethanal (4) Formonitrile   
 

5.  has the IUPAC name-  

 (1) Cyclohex-1-en-3-ol (2) Cyclohex-1-en-6-ol (3) Cyclohex-2-en-1-ol (4) Cyclohex-5-en-1-ol  

 

6. The group of heterocyclic compounds is :   

 (1) Phenol, Furan  (2) Furan, Thiophene  (3) Thiophene, Phenol  (4) Furan, Aniline  

 

7. The correct IUPAC name of  

  

 (1) Methyl ethanoate  (2) Aceto ethanoate  (3) Ethanoic anhydride (4) Ethanoyl ethanoate 

 

8. Which of the following pairs of trivial names and IUPAC names are incorrectly matched :- 

 (1) Isohexane   2-Methyl hexane   (2) Isooctane  2,2,4-Trimethyl pentane 

  

 (3) Isobutyraldehyde 2-Methyl propanal (4) Isobutylene  2-Methyl propene 

 

9. The IUPAC name of the hydrocarbon  

 CHCCH=CH–CH=CH
2
 is  

 (1) Hexa-3, 5-dien-2-yne   (2) Hexa-1, 2-dien-5-yne   

 (3) Hexa-1, 3-dien-5-yne   (4) Hexa-3, 5-dien-1-yne  
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10.  

 The IUPAC name of the above compound is :- 

 (1) 2-Acetoxy ethanoic acid    (2) 2-Methoxycarbonyl ethanoic acid  

 (3) 3-Methoxyformyl ethanoic acid   (4) 2-Methoxyformyl acetic acid  

 

11. The correct IUPAC name of the following compound is :   

   

 (1) 2-Bromo-5-methylbicyclo[5:4:0]heptane (2) 3-Bromo-7-methylbicyclo[3.2.0]heptane 

 (3) 3-Bromo-6-methylbicyclo[3.2.0]heptane (4) 2-Methyl-6-bromobicyclo[2.3.0]heptane 

 

12. Which of the following is heterocyclic compound ? 

 (1) 

O OO OO OO OO OO OO OO OO OO OO OO O

 (2) 

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

O

 (3) 

O

O

  (4) 

OH

HO

 

 

13. IUPAC name of the following molecule is :  

COOH

CH OH2

  

 (1) 4-Hydroxy methyl-1-carboxy cyclohex-3-ene 

 (2) 4-Hydroxy methyl cyclohex-3-ene carboxylic acid  

 (3) 1-Hydroxy methyl cyclohexene-4-carboxylic acid  

 (4) 4-(Hydroxy methyl cyclohex-3-enyl) methanioic acid  

 

14. The IUPAC name of compound  

 NH CO–CH –CH –CH–CH –CH –CH –CH2 2 2 2 2 2 3

CONH2

 

 (1) 1, 3–Dicarbamoylheptane   (2) 4-Carbamoyloctane 

 (3) 2-Butyl pentanediamide   (4) 2-Butyl pentane diamino ketone  

 

15. The correct IUPAC name of the following compound is      

  

 (1) 4–Ethyl–3,5–dimethylhexane     (2) 2,4–Dimethyl–3–ethylhexane   

 (3) 3–sopropyl–4–methylhexane   (4) 3–Ethyl–2,4–dimethylhexane  
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16. Which IUPAC name is incorrect for the following compounds ?    

 (1) CH
3
–CH=CH–CH

2
–Cl  1-Chlorobut-2-ene 

 (2) CHC–CH
2
–CH

2
–Br  1-Bromobut-3-yne 

 (3) CH
3
–CH=CH–CH=CH

2
   Penta-1,3-diene 

 (4) 

  

4-Bromo-2,2-dichloropentane 

 

17. What is the structure of 4-Methylhex-5-en-3-ol.  

 (1)      (2)     

(3)     (4)   

 

18. A compound having straight chain of five carbon atoms, It has one ketone group and two methyl groups 
on different-different carbon atoms. The IUPAC name of the compound is :  

 (1) 2,4-Dimethyl-3-oxopentane   (2) 2,4-Dimethylpentan-3-one 

 (3) 3,4-Dimethyl-2-oxopentane   (4) 3,3-Dimethylpentan-2-one 
 

19. IUPAC Name of given compound is:   

     

 COOH 

Br 

NH2  
 (1) 3–Amino–6–bromocyclohexane–1–carboxylic acid  

 (2) 2–Bromo–5–aminocyclohexane–1–carboxylic acid 

 (3) 5–Amino–2–bromocyclohexanecarboxylic acid 

 (4) 4–Bromo–3–carboxycyclohexanamine 
 

20. The IUPAC name of  is :     

 (1) N-Methyl-N-ethylethanamine   (2) Diethyl methanamine  

 (3) N-Ethyl-N-methylethanamine   (4) Methyl diethylethanamine  

 

21. IUPAC name of  is   

 (1) N-Deutero-N-formylbenzenamine  (2) N-Phenylamino-N-deuteromethanal 

 (3) N-Deutero-N-phenylmethanamide  (4) N-Deuterobenzene carboxamide 
 

22. Correct IUPAC name of given ester is:   

  

523 HC–O–

O
||
C–

Br
|

CH–CH

 
 (1) Ethyl 2–bromopropanoate   (2) 2–Bromoethylpropanoate 

 (3) Ethyl 1–bromoethanoate   (4) 2–Bromo ethoxyethanecarboxylate 
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23. Which name of the CH3–CN is incorrect : 

 (1) methyl cyanide (2) methyl carbylamine (3) ethanenitrile  (4) acetonitrile 
 

24. Total number of position isomers of trimethyl cyclohexane are :     

(1) 5   (2) 6   (3) 7   (4) 8   
 

25.  ,     

 Relation between the above compounds : 

 (1) Position isomers (2) Chain isomers (3) Homologs  (4) No relation 
 

26. Which one is not metamer of  ? 

 (1)     (2)    

 (3) 

   

 (4)  

 

27. The minimum number of carbon atoms present in an hydrocarbon to be able to show position 
isomerism  : -  

(1) 3   (2) 4     (3) 2    (4) 5 
 

28. Which of the following compound is isomeric with propanoic acid :- 

 (1)   (2)   (3) CH
3
–CH(OH)–CH

3
  (4) CH

3
O–CH

2
–CH

2
OH 

 

29. Glucose and Fructose are  

 (1) Chain isomers (2) Position isomers (3) Functional isomers (4) None of these  
 

30. Molecular formula C
4
H

8
O

2
 represents :- 

 (1) Acid only   (2) Ester only   (3) Alcohol only   (4) Acid and ester both  
 

31. Which one of the following is not the pair of the functional isomers. 

 (1)  and   (2)   and   

 (3)  and   (4)   and  

 

32. Total number of structurally isomeric ethers with molecular formula C
5
H

12
O. 

 (1) 4   (2) 5   (3) 6   (4) 7 
 

33. How many number of all aldehydes (structurally isomeric) with molecular formula C
5
H

10
O are possible?

 (1) 4   (2) 5   (3) 6   (4) 3 
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34. What is the number of all (structurally isomeric) alkynes with molecular formula C
6
H

10
. 

(1) 5   (2) 6   (3) 7   (4) 8 
 

35. How many aromatic benzenoid structural isomers are possible for C7H8O ? 

 (1) 4   (2) 5   (3) 6   (4) 3 
 

36. The compound  is an :               

 (1) alkyne, 3º amine (2) alkene, 2º amine (3) alkene, 3º amine  (4) alkyne, 2º amine 
 

37. In which compound all the carbon atoms have same hybridisation ? 

(1) CH
2
 = C = O  (2) (CH

3
)

2
CO   (3) CH

2
 = CHCN  (4) CH

2
=CH–CH=CH

2 

 

38. How many structures of C
3
H

6
Cl

2
 are possible ? 

 (1) 3    (2) 4    (3) 5     (4) 6 
 

39. How many structures are possible containing aromatic ring, having molecular formula C
8
H

10
 ? 

 (1) 2   (2) 3    (3) 4     (4) 5 
 

40. How many structures are possible containing aromatic ring, having molecular formula C
7
H

5
OCl? 

(1) 3    (2) 4    (3) 5    (4) 6 
 

41. Which is correct for the following structures ?       

 

I

3 2 2 2CH – CH – CH – CH – Cl

 

CH  – C – CH3 3

CH3

Cl

II

  

Cl

III   

– CH  – Cl2

IV   

 (1) I & II are chain isomers   (2) I & III are functional isomers 

 (3) II & IV are functional isomers  (4) III & IV are position isomers 

 

42. The number of isomers of dibromobiphenyl (Biphenyl:C
6
H

5
–C

6
H

5
) is   

 (1) 8   (2) 10   (3) 12   (4) 4  
 

43. Which of the following pair of compounds is not functional isomers ?  

 (1) 
OH

 and O     (2) 

OH

 and 

O

 

 (3) OH and O   (4) 
O

O

 and 

O

O
 

44. Find the relation between  

O

D  and 

O

D       

 (1) Chain Isomers (2) Position Isomers (3) Functional Isomers (4) Metamers 
 

45. Total number of structural isomers with molecular formula C
8
H

18
 that contain 7 carbon atoms in the 

parent chain are :      

 (1) 3   (2) 4   (3) 5   (4) 6  
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SPP Answers 

 1. (2)  2. (4)  3. (3)  4. (2)  5. (3)  6. (2)  7. (3)  

8. (1)  9. (3)  10. (2)  11. (3)  12. (3) 13. (2)  14. (3)  

15. (4)  16. (2)  17. (2)   18. (2)  19. (3)  20. (3)  21. (3)  

22. (1)  23. (2)  24. (2)  25. (2)  26. (2)   27. (2)  28. (2)  

29. (3)  30. (4)  31. (4) 32. (3) 33. (1)  34. (3)  35. (2)  

36. (3)  37. (4)  38. (2)  39. (3)  40. (2)  41. (1)  42. (3)  

43. (4) 44. (3)  45. (1) 
 

 
SPP Solutions 

 

6. (i) Phenol  - homocyclic, aromatic  (ii) Furan  - heterocyclic, aromatic 

 (iii) Thiophene  - heterocyclic, aromatic  (iv) Aniline   - homocyclic, aromatic 

 

11.   

 IUPAC name : 3-Bromo-6-methylbicyclo[3.2.0]heptane.  
 

12. Hetero atom is present in cyclic chain. 
 

18.    OR    

 2,4-Dimethylpentan-3-one  3,4-Dimethylpentan-2-one 
 

21. 

O
||

Ph–N–C–H
|
D

 

 N-Deutero-N-phenylmethanamide.  

 

24.           
 

25. Carbon skelton is different in both compounds. 
 

26.  

 This compound is functional isomer of the given compound. 
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32.  (i) CH
3
–O–CH

2
–CH

2
–CH

2
–CH

3
 (ii)  (iii) 

(iv)  (v) CH
3
–CH

2
–O–CH

2
–CH

2
–CH

3
  (vi)  

 

33. (i) CH
3
–CH

2
–CH

2
–CH

2
–CHO (ii)     (iii)      (iv)  

34. (i) H–C C–CH
2
–CH

2
–CH

2
–CH

3 
(ii) H–C C–  –CH

2
–CH

3 
(iii) H–C C–CH

2
– –CH

3 
 

(iv) H–C C–   (v) CH
3
–CC–CH

2
–CH

2
–CH

3 
(vi) CH

3
–C C–  

 (vii) CH
3
–CH

2
–C  C–CH

2
–CH

3 

 

35. (i)   (ii)  (iii)  (iv)   (v)  

36. N atom is attached with 3 carbon atoms so it is 3° amine. 

 

37.     ;      ;       ;       

 

38. (i) CH
3
–CH

2
–CHCl

2
 (ii)  (iii)  (iv)    

 

39. (i) 

 

 (ii)   (iii)   (iv)  

40.  (i)   (ii)    (iii)    (iv)  

41. (1) I and II are chain isomers. 

 (2) There is no relation between I and II 

 (3) There is no relation between II and IV 

 (4) III and IV are chain isomers. 

 



CHEMISTRY FOR NEET                                    IUPAC Nomencluature  

 

               Page| 64    

       

42.  +  +  +  +  +  

  +   +  +   +   

  +       Overall 12 isomers.  

43. (1) 
OH

 and O    are functional isomer. 

 (2)  

OH

 and 

O

  are functional isomers. 

 (3)  OH and O  are functional isomers. 

 (4)  
O

O

 and 

O

O
  are identical. 

 

45.  (1)    (2)    (3)   


